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Statistical Methods
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Note : Answer all questions. All questions carry equal

marks. Log table and graph paper will be
available on request.
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Explain the meaning of census method and
sampling method with examples. Throw light
on the merit-demerit of census and sampling
method.
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What is Primary and Secondary Data?

Describe the various methods of collecting
primary data.
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0-10 1
10-20 2
20-30 10
30-40 4
40-50 10
50-60 9
60-70 2
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Calculate mode from the following data:

Class | Frequency
0-10 1
10-20 2
20-30 10
30-40 4
40-50 10
50-60 9
60-70
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What is Arithmetic Mean ? Explain the steps
of calculation of arithmetic mean in
individual, discrete and grouped series.

TS / Unit-111

3. orufeRor w1 21 wd gfvmor <ifSw) srafeRtor
% A9t dfadl w1 = wifsw)

Give the meaning and definition of dispersion.
Describe the methods of measuring dispersion.
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10-20 15
20-30 14
30-40 16
40-50 20
50-60 15
60-70 11
70-80 9

Calculate mean deviation from median by
short-cut method from the following data :

Marks | Frequency
10-20 15
20-30 14
30-40 16
40-50 20
50-60 15
60-70 11
70-80 9
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What is the meaning of correlation ? Explain
the various methods of calculating correlation.
Give in brief its merit-demerit.
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X Y
90 75
80 80
70 70
60 65
50 55
40 60
30 50
20 40
10 45
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Find out Karl Pearson’s coefficient of
correlation between the values of X and Y
given below :

X Y
90 75
80 80
70 70
60 65
50 55
40 60
30 50
20 40
10 65
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1990 1990 1995
A 50 6 10
B 100 2 2
C 60 4 6
D 30 10 12
E 60 8 12

Construct cost of living index using family
budget method for the year 1995 taking 1990
as the base year from the following data :

Quantity (in units) | Price (per unit in ¥)
Commodity
1990 1990 1995
A 50 6 10
B 100 2 2
C 60 4 6
D 30 10 12
E 60 8 12
37Ydr / OR
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What is Time Series? Explain its main
components and throw light on its analysis.
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